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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
COMMERCE .
DSC 13 : Financial Management

Time : 2V2 Hours Max. Marks : 60

Instruction : Answers should be written completely either in English
or in Kannada.

SECTION - A

Answer any six sub-questions. Each sub-question carries two marks. (6x2=12)

1.

a) What is doubling period ?

b) If sales are ¥ 8,00,000; Contribution ¥ 6,00,000. Calculate variable cost.
¢) What is accept and reject criteria in N.P.V. ?

d) Mention four factors influencing working capital.

e) Mention the techniques to calculate time value of money.

f) What is wealth maximisation ?

g) What is meant by financial mix ?

h) Investment X 20,000; Salvage 15%; Additional working capital — ¥ 2,000.
Calculate average investment.

SECTION - B
Answer any three questions. Each question carries 4 marks. (3x4=12)
2. Explain the different methods of investment evaluation ?
3. Explain scope of financiai management.
4. Mr. Ravindra deposits ¥ 10,000 at the beginning of each year for 4 years at

12.5% p.a. interest. What is the future value after 4 years ?

Calculate three types of leverages :
Sales % 4,00,000
Variable cost 25%
Fixed cost < 75,000
Tax rate 50%

15% debentures T 50,000

What are the advantages of adequate working capital ?
P.T.O.
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, SECTION-C
Answer any three questions. Each question carries twelve marks. (3x12=36)

7. Explain the characteristics of a sound financial plan.

8. a) Explain the sources of working capital.
b) Explain the functions of finance manager.

9. The balance sheet of a company is as follows :

Liabilities Amount Assets Amount
4 2

Equity shares 6,00,000 Fixed asset 15,00,000
of ¥ 10 each
10% debentures 8,00,000 Current asset 5,00,000
Pand L Alc 2,00,000
Creditors 4,00,000

20,00,000 20,00,000

The Company’s total assets turnover ratio is 5 times. lts fixed operating expense
are ¥ 10,00,000 and variable cost is 30%. Income tax rate is 50%.

Calculate the level of EBIT if EPSis a) 2, b) 3, c) 4, d) 5.

10. Rakshita Ltd. is considering the purchase of machinery. Two machines are
available, each costing ¥ 1,50,000. In comparing the profitability of these two
machines at a 10% discount rate is to be used. Earnings after tax are expected
to be as follows :

Cash inflows :

Year Machine A Machine B
3 4

1 45,000 15,000

2 60,000 45,000

& 75,000 60,000

4 45,000 90,000

5 30,000 90,000

You are also given the following information :

Year 1 2 3 4 5

PVof¥1at10%dis. 0.909 0.826 0.750 0.683 0.621

Calculate the proposal under Net present value method.
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11. Rahul Ltd. has 30,00,000 equity shares of ¥ 10. The company wants to raise
another 15,00,000. These are the different financial plans. Tax rate is 50%.

i) All debentures carrying 10% interest

i) All equity
iif) 10,00,000 in equity shares and X 5,00,000 in debenture carrying 10% interest.
iv) 5 OO ,000 in equity shares and 10, 00 000 in 10% preference shares.

Calculate EPS if EBIT is ¥ 6,75,000.
SR e
LN -
CIRITRTTR ETY GUX-TINON GUZOR. B8 GUT-T,3 1§ DT> Losnso. (6x2=12)

a) QUORRRYAES BE0 Q083D ?

b) 50083 X 8,00,000; 3ecdrt X 6,00,000 2BwRIEs s, 50B808E0000.

c) V¥ HAE [P, (NPV) B e80T 5082 30F0AIT [RTITORNED QIR ?
d) TOODF QTS 2OTHIVE e T8 10T TV, S0TNTRY, L eDa.

€) Tt A0NT BPY,WY, TFT TRET o, NI, SR

f) RoTeo NoFReYRINT HoTTER 2

Q) DTS 0T, AT LSTFRERD 7

h) cdrexdod Be&F T 20,000; 9E TR, 15%; BP0 FOCF AT LWOTTY
% 2,000 ﬁ@n:mri NUDN@ m@@ cDmD 2 ]

QTN -
CINYTITTR TR T,ZNeT GU80R. %8 %31 4 ©oTNL0. (3x4=12)

2. TRRE ﬁéﬁeﬁdw WRTOT @c,msma;% 392,
3. DTN VWFTHOD e q?uodaab NWOR.

4. &€ Teon, Ut T, 8RR T 3308353, 10,000 B, 4 VRFFIIN, W& 12.5% p.a.
zﬁeﬁsé amaz:b mw DRET D03T aw@mcs 53’30 DT, ?

5. @003 T 4,00,000; w0z3emmdss #2323 25%, Ndﬁzs T 75,000; 301 33@ 50%; 3e. 15
o T, X 50,000. Topdh s*da“ @ﬁd’ewﬁﬁ 50@&@0@3@

6. mﬁ% FTOOF TS WORTPT BTOBTRONTD DT 2

QTN -
CINRTITTR TR @%ﬁ@:)ﬁ WZ0R. B8 T[/J 1 12 wosnsd. (3x12=36)
7. YUZED BEIFIRO QAR ERTOI MIEFVT LN, QeSO
8. a) [N T QWD mwﬁ@éa‘% DO,
b) TR0 asagaSm@wﬁd TICIFTIFRY, WITOR.
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10.

11.

FOBDWOI e:?odowgocb aagj B3 FPND0ET.
SRBMROINT 2R3 ST oS
T <

maﬁnﬁd Bedonsh T,8 Feoni < 10808 6,00,000 n}d 3% 15,00,000.
10% Ao T, N 8,00,000 236 i 5,00,000
ORI se;gd 398 2,00,000
TOOTRTTO 4,00,000

20,00,000 20,00,000

BOTAOL 2D By Whozaobdd 5 Tedd; T FooF TS 23 10,00,000; 2ucdenrides 25u3,30%,
o1t ©S - 50%. EPS a) 2, b) 3, ¢) 4, d) 5. 5538 EBIT au33), S8w0s.
T30 FOTVOID TR CI0Z,NFR), DOLDFLS AFFORITYT. 0303, T BWwee B3

= 1 ,50,000. o003 eﬁmda’ Zoeed HTBY odaos nen 10% Nméaojam
EI‘OwOi@GﬂNd

3on So20T negotn B3 FWNTCED ¢
SNAT LETBOF)
TRE 0303, A okeg, B
3 X
1 45,000 15,000
2 60,000 45,000
3 75,000 60,000
4 45,000 90,000
5 30,000 90,000
BRLITO Woedod
DR 1 2 3 4 5

PVofZ1at10%%ee@ 0909 0.826 0.750 0.683 0.621
DY TRB TP, TR FOTBROWD.

TOBOS* F0TICIY, 30,00,000 TR, Sedorish X 10 0o&es. =08 soTR0I0 T
WOBweFwon 15,00,000 dfamo@oﬁ@é;igl DEOD JPFOAT. FOWIOIN LG D0
BeaToAd cdperssod Be. 50 T, Bon BOBY,

) @R moTF N Se. 10 WRDOE.

i) e3 AR, Fesonsh.
iii) 10, 00 000 wms ged, X 5,00,000 o, Se. 10 3 RIS,
iv) 5,00,000 mo=R, E?eda =082 10,00,000 3, am Fegoried B¢. 10% Fo3.

EBIT ¥ 6,75, OOO SNIN, EPS B3, 60@‘060@0336




